Leading Edge
of Roof Panel

Panel Support
Fastener Clearance

Fastener

s

M

esa AZ

480-558-7210

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

FLM Clip

PATE 9/9/2016
DATE

SSSSSSSSSSSS

X:X




FLM Panel
ATA-Shield

Plywood Substrate
1 1/2" Movable Clip

Utility Cleat

/ Butyl Tape

Curved Gable Trim \ |
>#10-13 x 1" Wafer Head Screw

IAVEVL

Joggle Cleat Mﬂ Trim Board

4" TYP. =

=
gk

(Install 6" length of
cleat at a max 16" O.C.)

4" TYP.

1/4" 7/8" 1/2"

i I

VB |

. . 1 9-Curved Gable Trim
ﬁ ﬁ =Y  — S ATAS INTERNATIONAL, INC
* 7 /8" N N Allentown PA
C — 610-395-8445
Mesa AZ
3 FLA975-Joggle Cleat | LN asossei0
FLM Curved Gable Detail

DWG. NO. DR DATE

FLA962'UtI|Ity Cleat KRK | 9/15/2014

5/30/2019 Updated Clip Information AJZ| KRK MATERIAL

-

Note: * denotes color side.

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




\

=

\

Metal Deck

1 1/2" Movable Clip
FLM Panel

1 1/2" Fixed Clip

Insulation

1 1/2" Movable Clip
Appropriate Fastener

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

TITLE

DWG. NO.

DR
MBP

PATS 1192019

APP

MATERIAL

REV.
NO.

DATE

DESCRIPTION OF REVISION BY | APP

DATE

SH. SIZE B

SCALE X : X




HVAVAVAYAVAYANI

Wall

Appropriate Sealant

Appropriate Anchor Fastener

Segmented Counterflashing (anchor where appropriate)

Appropriate Sealant

Butyl Tape
Utility Cleat
Curved Sidewall Trim

1 1/2" Movable Clip

FLM Panel

ATA-Shield
Plywood Substrate

§#10-13 x 1" Wafer Head Screws

Trim Board

41“ﬁ <71/2n
X

FLA962-Utility Cleat

X
3/8"
/\ v 4" TYP.
=
1/2|| 44 e 1/2u ﬁ .
21/2" = x
4" TYP.
8 SFC999-Curved Sidewall Trim
ATAS INTERNATIONAL, INC
3/4" _ N £10.396 8445
FLA980-Counterflashing D\ S et
e FLM Curved Sidewall Detail
DWG. NO. DR KRK DATEg/15/2014

5/30/2019 Updated Clip Information AJZ| KRK MATERTAL
BY | APP

[

DESCRIPTION OF REVISION

DATE

SH. SIZE B SCALE

X:X

Note: * denotes color side.



Allow for Thermal
Expansion/Contraction Plywood Substrate

ATA-Shield
ATA-Guard
FLM Panel
1 1/2" Movable Clip

6" MAX.
#10 x 1" Wafer Head Screw
Allow for Thermal
Expansion/Contraction

4|| \
K Variable Dimension
Eave Trim ?
Trim Board Ll" D1
3/4"
Eave Trim
FLA111 - 2:12 to 4:12 Slope
D1=1"
FLALLZ -D‘;:izltol /E;:..l 2 Slope ATAS INTERNATIONAL, INC
~ Allentown PA
FLA113 - 8:12 to 12:12 Slope 610-395-8445
D1 =2" ‘\ § Mesa AZ
LW 480-558-7210
TITLE .
FLM Eave Detail
2 5/30/2019 Updated Clip Information AJZ | KRK DWG. NO. DR KRK DATE 9/9/2014
Note: * denotes color side. | e Updoted substte MoP | fpTeRC Sl ol
T\‘E(\)/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Gable Trim Cap
Z Closure

S.S. Painted Pop Rivet
FLM Panel

Plywood Substrate

24" O.C.

1 1/2" Movable Cli

ATA-Guard
ATA-Sheild
1 width of roll
. N RY N - - - —

Z Closure

L‘k

J

Butyl Tape Detail

Note: * denotes color side.

S.S. Painted Pop Rivet
6" O.C.
1 1/2" Movable Clip

Butyl Tape

<SRN

\

/Trim Board

.

Gable Trim Starter Cleat

¥ /#10 x 1" Wafer Head Screw

FLA916-Z Closure 1

f-———————————————— 4" e
1/2"0.H.—~ L *
e 1" —
T 4"
17/8"
| o
4"
13/16" x 1/2" W.H.
5/8"
& FLA218-Gable Trim Cap
ATAS INTERNATIONAL, INC
. Allentown PA
FLA217-Gable Trim Starter Cleat NS 6103950445
8] \ 480-558-7210
TITLE . .
FLM Ending Gable Detail
2 5/30/2019 Updated Clip Information AJZ | KRK DWG. NO. DR KRK DATE 9/9/2014
6/20/18 Updated Substrate and Trims MBP MATERIAL APP DATE
T\IEOV DATE DESCRIPTION OF REVISION BY | APP SH. SIze B SCALE X:X




Appropriate Sealant\\

Counterflashing —
Sidewall Trim
Trim Board [ ANAART
1 1/2" Movable Clip S.S. Painted Pop Rivet (24 in O.C.)

ATA-Guard
FLM Panel
Plywood Substrate
ATA-Shield
1 width of roll

Z Closure

Butyl Tape

Note: * denotes color side.

rl”"

111/16"

|

.

FLA916-Z Closure

X -t
o
7 /\ 3/8" W.H.
—
i 41/2" t
21/2" F—Fl/z" O.H.
"
3/4" FLA410-Sidewall Trim

ATAS INTERNATIONAL, INC
Allentown PA
. 610-395-8445
- \ - Mesa AZ
FLA980-Counterflashing NS ez
TITLE . . .
FLM Ending Sidewall Detail
2 5/30/2019 Updated Clip Information AJZ | KRK DWG. NO. DR KRK DATE 9/9/2014
1 6/19/20 Updated Substrate and Trims MBP MATERIAL APP DATE
T\IE(\)/ DATE DESCRIPTION OF REVISION BY | APP SH. SIze B SCALE X:X




180° Seam Pre Notched Z Closure

90° Seam Pre Notched Z Closure - Hip

180° Seam Pre Notched Z Closure - Hip

90° Seam Pre Notched Z Closure

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE
FLM Factory Pre Notched Z Closures Detail

DWG. NO.

DR DATE

KRK 9/15/2014

APP DATE

REV.
NO.

DATE DESCRIPTION OF REVISION

BY

APP

MATERIAL

SH. SIZE B SCALE

X:X




Wall

Appropriate Sealant

Appropriate Anchor Fastener

Counterflashing (anchor where appropriate)

Headwall Trim
Field Notched Neoprene

Z Closure

S.S. Painted Pop Rivet
24" 0.C.

1 1/2" Movable Clip

FLM Panel ~

ATA-Guard

3
I i
\\\

\

Plywood Substrate \

Note: * denotes color side.
Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

Appropriate Sealant
Butyl Tape
#10 x 1" Wafer Head Screw

3/8" W.H.

1r

—

# 1/2"

T

b 3

1 llT/ 16"
| i

1/2" O.H.

4||

D

FLA500-Headwall Transition

Allentown PA
610-395-8445
‘\ - Mesa AZ

> 480-558-7210

ATAS INTERNATIONAL, INC

TITLE

FLM Headwall Detail

J FLA980-Counterflashing
- 1"

Updated Clip Information AIZ

KRK

FLA9 1 6-Z Closu re 1 |6/20/18 Updating models and dimensions | JC

DWG. NO.

DR
KRK

PATE 9/9/2014

APP

T\IE(\)/ DATE DESCRIPTION OF REVISION BY

APP

MATERIAL

DATE

SH. SIZE B

SCRE 3.y




Hip Cap
Field Notched Neoprene

Z Closure

S.S. Painted Pop Rivet
24" 0.C.

1 1/2" Movable Clip
= fg/ g o
- ,,/’;?’1’/1:’4
y’\“ﬂ’ T ? ,,//,’,;’;,i:i/:”/:ii’
— %é/; = ’Fx’f;:’i”'/’i/
= - ——-

/
e

_—

Pre Notched Z Closure

Note: * denotes color side.

Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

SO :\:\:\;‘;:;;\;\;\:;:\\;\;\\\;\\i = S / \\;\>< /\\\\ o

Appropriate Sealant

#10 x 1" Wafer Head Screw
Butyl Tape

FLM Panel

(\ —=
<

s

N
\

/

//

&N

A
~ NG %\ Ny
X ~ /

’
’
7y f

3 SIS

T

111/16"

i

o

FLA916-Z Closure

A

D1

Variable

A\( Dimension

1/2" O.H.
Hip Cap
FLA315-2:12 to 6:12 Slope
D1=6" ATAS INTERNATIONAL, INC
FLA316-6:12 t09:12 Slope Allentown PA
D1=7" 610-395-8445
. . Mesa AZ
FLA317-9:12 to 12.12 Slope » 480-258-7210
D1=8 —E
FLM Hip Detail
2 5/30/2019 Updated Clip Information AJZ |KRK DWG. NO. DR KRK DATE 9/9/2014
1 6/20/18 Updated Titles MBP MATERIAL APP DATE
?‘Eg DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




11/2"

12 1/2" Coverage

*»kur

11/2"

FLM125

16 1/2" Coverage

I

6 3/4"

N A

11/2"

FLM165

20 3/4" Coverage

¢+kur

I

6 3/4"

N A

¢»kur

Note: Plank Ribs Standard, Specify Without.

FLM207

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

MATERIAL

DESCRIPTION OF REVISION BY | APP

DWG. NO. DR DATE
KRK 12/15/2016
APP DATE

SH. SIZE B SCALE

X:X




FLM Panel

Ridge Cap
Field Notched Neoprene
#10 x 1" Wafer Head Screw

S.S. Painted Pop Rivet
24" O.C.

1 1/2" Movable Clip

=T
g
S

T~
/

s = = ,fi'f’/:’:’:/’:”:ii’
— = P >%"’/ o~
E ~ = ST

V=

=

P
o\
W

Pre Notched Z Closure

Note: * denotes color side.
Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

ATA-Guard
Plywood Substrate

Butyl Tape
Appropriate Sealant

s
< \>< /\\\ =
S S TS
:\: ~ ~_ D w Y
¥ \\::::\ :\ —\\\
;
N A
Variable
/& Dimension
~ 1'# 1/2" O.H.
Ridge Cap
FLA301-2:12 to 6:12 Slope
111/16" D1=7"
FLA302-6:12 to 9:12 Slope ATAS INTERNATIONAL, INC
i D1_8|I Allentown PA
- 610-395-8445
FLA303-9:12 to 12:12 Slope \ : Mesa AZ
L D1=9" \ W 480-558-7210
1= e FLM Ridge Detail
FLA9 16_Z Closure 2 | 5/30/2019 Updated Clip Information wz | kri |PVENO- :’PRP KRK Z::E 9/9/2014

1 6/20/18 Updated Substrate

MBP

REV.

NO DATE DESCRIPTION OF REVISION

BY

APP

MATERIAL

SH. SIZE B SCALE X_X




Field Notched Neoprene

Z Closure
S.S. Painted Pop Rivet

24" 0.C.
Appropriate Sealant

Butyl Tape
Plywood Substrate
FLM Panel = —
1 1/2" Movable Clip = =
ATA-Guard o~ X7 \ —— %

Tlu’

111/16"

:

-

FLA916-Z Closure

Note: * denotes color side.
Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized

#10 x 1" Wafer Head Screw

Shed Ridge Cap
Shed Ridge Starter Cleat

W

Trim Board

N
-

D1
1/2" O.H.

AT

3/4"
FLA349-Shed Ridge Starter Cleat

2:12 to 6:12 Slope
D1=6.125"
6:12 to 9:12 Slope
D1=6.375"
9:12 to 12:12 Slope
D1=6.625"

A

D2

Variable Dimension

13/16" x 1/2" W.H. »

FLA346-Shed Ridge Cap

FLA342 - 2:12 to 6:12 Slope
D1=7", D2=6.25"
FLA344 - 6:12 to 9:12 Slope
D1 = 8", D2=6.5"
FLA346 - 9:12 to 12:12 Slope
D1 = 9", D2=6.75"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445
\\ : Mesa AZ
480-558-7210

TITLE . .
FLM Shed Ridge Detalil
2 5/30/2019 Updated Clip Information AJZ | KRK DWG. NO. DR KRK DATE 9/9/2014
1 6/20/18 Updated Substrate and Trims MBP MATERTAL APP DATE
T\IE(\)/ DATE DESCRIPTION OF REVISION BY | APP SH. SIze B SCALE X:X




Gable Trim Cap

Z Closure
| ) S.S. Painted Pop Rivet
1 1/2" Movable Clip 24" O.C. FLM Panel
ATA-Guard
Gable Trim Starter Cleat\ Plywood Substrate
ATA-Shield
#10 x 1" Wafer Head Screw 1 width of roll
= 1 7777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 . 4" »
Trim Board i
" |
1/2" J e
= 1" 41/16"
17/8"
4I| i
- 1'# 13/16" x 1/2" W.H.
5 8|I .
/ FLA218-Gable Trim Cap
111/16" Q<
i ATAS INTERNATIONAL, INC
Allentown PA
FLA217-Gable Trim Starter Cleat 610.395-8445
1" = > 480-558-7210
™M Startlng Gable Detail
_ 2 | 5/30/2019 Updated Clip Information iz | ke [PV NO- bR KRK DATEQ/11/2014
Note: * denotes Co|0r s|de_ FLA916 Z Closure RlEv. 6/20/18 Updated Substrate and Trims MBP MATERIAL :::IZE B ::::E X.X




Appropriate Sealant
Counterflashing
Appropriate Fastener
Sidewall Trim

— 1 1/2" Movable Clip
Z Closure
W MWW@QD §4So IIDCarlnted Pop Rivet
Butyl Tape
Trim Board
ATA-Guard
FLM Panel
Plywood Substrate
ATA-Shield
1 width of roll
[ === - . . I 4 _ i y _ .
¥
4||
3/8" W.H.
)\é ,
1/2"4 -— 1/2" O.H. % J‘
-y ﬂ 21/2 4 |
T 3/4" TL FLA410-Sidewall Trim
111/16"
/ @ ATAS INTERNATIONAL, INC

l Allentown PA

. 610-395-8445

L FLA980-Counterflashing NS ez

1" "™ FLM Starting Sidewall Detail
2 5/30/2019 Updated Clip Information AJZ | KRK DWG. NO. DR KRK DATE(_;/].]_/2014
Note: X denotes Color s|de. FLA916-Z Closu re 1 6/21/18 Updated Substrate and Titles MBP MATERTAL APP DATE
T\IE(;/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Plywood Substrate
ATA-Guard

ATA-Shield

4" min. to 6" max.

Allow for Thermal Expansion

7 Variable Dimension
1/2" O.H.

13/8"

1 1/2" Movable Clip
FLM Panel

Valley Trim

1/4"

TomSerd | &hﬂ tZ FLAS00-Valley Trim

A=Ay ATAS INTERNATIONAL, INC

Allentown PA

n 610-395-8445
1 1/ 2 ‘\ i Mesa AZ

N 480-558-7210
TITLE ;
FLA975-Joggle Cleat FLM Valley Detail

NTS 2 | 51302019 Updated Clip Information A1z | krk |PWG- NO- DR KRK DATEQ/H /2014
3 BATE
Note: b 3 denotes C0|Or Slde- ( ) 1 6/21/18 Updated Substrate and Titles MBP MATERIAL
T\‘E(;/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Appropriate Sealant
Counterflashing

Vented Headwall Trim
Appropriate Anchor Fastener

Trim Board

#10 x 1" Wafer Head Screw
Field Notched Neoprene
Appropriate Sealant

Butyl Tape
Vented Z Closure
S.S. Painted Pop Rivet
24" 0.C.
ATA-Guard

Plywood Substrate

1 1/2" Movable Clip

/

e

IEATATAT AT v

FLM Panel
=
¢¢
//\¥:/‘1 7
I > — =22
//< ///// ///,////%///
// \ ////////i////////
=~ — AT o T
7¢ — =T T T~
=L LS e
Z// \/\%/// \/_,/'//i////://i//:’:////
/// _ 4// ////////////
\ = 4/////,/////// —
Foe ///2?///////// a?‘g
////:i////://////// ﬂ%\’

Pre-Notched Vented Z Closure —

Note: * denotes color side.

Note: Neoprene Closures are not required if Factory Vented Pre Notched Z Closures are utilized.

3/4"

- 4"

Variable
Dimension

|

3/8" W.H. \
I 2 1/4" — ™ \7 /k n
1/2
6 1/4"
5/8" | ! /( \{/ /
- X
| e - -
) o T FLA512-Vented Headwall Trim
5/8 ) FLA510 - 2:12 to 6:12 Slope
111/16" 3/4 D1=8.5"
* FLA514 - 6:12 to 12:12 Slope
i D1 =9.5"
4 . ATAS INTERNATIONAL, INC
-1 FLA980-Counterflashing e
8| \ » 488/-':;a8-A72210
Vented Z Closure e :
FLM Vented Headwall Detail
2 | 5/30/2019 Updated Clip Information AJZ | KRK DWG. NO. bR KRK DATEQ/11/20]_4
1 6/21/18 Updated Substrate and Trims MBP MATERIAL APP DATE
REV.L paTe DESCRIPTION OF REVISION BY | APP SHSIZE B |SAE wx

NO.




Field Notched Neoprene

S.S. Painted Pop Rivets

24" 0.C.
Plywood Substrate

1 1/2" Movable Clip

E
<

Pre-Notched Vented Z Closure

Note: * denotes color side.

Butyl Tape
#10 x 1" Wafer Head Screw
Trim Board
—2 1/4"
5/8"
|

] F

5/8" 111/16"
* N

1||7 .-

Appropriate Sealant

Vented Z Closure

Note: Neoprene Closures are not required if Factory Vented Pre Notched Z Closures are utilized.

{

i

/

/

s 13\\

=

1
/),
i /) /}

FLM Panel
ATA-Guard

\
=
%\
S G
/

B
14

Ny
\

N

F RS
¥

1,
L)
1

3/4"

e
G

Vented Ridge Cap

FLA322-3:12 to 6:12 Slope
D1=7.25"
FLA324-6:12 to 9:12 Slope
D1=8.25"
FLA326-9:12 to 12:12 Slope
D1=9.25"

Variable
Dimension

Allentown PA
610-395-8445
\\ - Mesa AZ

> 480-558-7210

ATAS INTERNATIONAL, INC

TITLE

FLM Vented Ridge Detail

2

5/30/2019

Updated Clip Information

AIZ

KRK

6/20/18

Updates of specifications

JC

DWG. NO.

DR DATE

KRK 9/11/2014

APP DATE

REV.
NO.

DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

SH. SIZE B SCALE

X:X




A iate Sealant
Vented Shed Ridge Cap _~— Appropriate

Field Notched Neoprene Butyl Tape
Vented Z Closure /

S.S. Painted Pop Rivets
24" O.C.

#10 x 1" Wafer Head Screw

FML Panel

Starter Cleat

1 1/2" Movable Clip - gt i Board
. : £ rim Boar

ATA-Guard

Plywood Substate

10 1/4"

3/4"

E/ Variable 8"
{ A\{/ 1/2" Dimension —=

13/16"

\
St

L
[
~

FLA366-Vented Shed Ride Cap

FLA362 - 2:12 to 6:12 Slope
D1=10.5", D2=6"
FLA364 - 6:12 to 9:12 Slope

3/4" D1 = 11.25", D2=6.5"
FLA369-Vented Shed Ridge Starter Cleat riases - 9:12 to 12:12 Sope
2:12 to 6:12 Slope D1 = 12.25", D2=7.25"
D1=5.875"
" 6:12 to 9:12 Slope
Pre-Notched Vented Z Closure 5/8 D1=6.375" P ATAS INTERNATIONAL, INC
" ' Allentown PA
111/16 9:12 to 12:12 Slope Mentoun PA
* i D1=7.125" NS esaz
)WV 480-558-7210
. _ "™ FLM Vented Shed Ridge Detail
Note: * denotes color side. " . pe— por—— e [PWG TG o DATE
. 201! late ip Information ¥4 KRK 9/11/2014
Note: Neoprene Closures are not required if Factory Vented Pre Notched Z Closures are utilized. Vented Z Closure L | 6118 Changes of some dimensions Py g — Ao DATE
SH. SIZE SCALE
Ry|  Date DESCRIPTION OF REVISION BY | APP B X:X






